2. Exponents (Powers)

Exercise 2 (A)

Question 1.

Evaluate:
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Question 2.
If 1125 = 3m x 5; find m and n.
Solution:

1125 =32 x 53
The factorsof 1125 are 3 x 3 x5 x5 x §

3] 1125
375

H25=3x3x5x5x5
Now comparing, 32 x 53 = 3™y 5"

S m=2 n=3
Question 3.
Find x, if 9 x 3x = (27)2
Solution:

9x 3" =@2n>?
P2 xF=3x3x3)¥?
= 314-2: [3]3[17:—3]
- 3::+2=(3}6x—9
Since, bases are same, compare them,
x+2=6x-9
6bx—x=9+2
= Sx=11



Exercise 2 (B)

Question 1.
Compute:
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vi) (12)2x3 = 2x2x3)? x 3
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Question 2.
Simplify:

(i) 3; + 25% - [21_.}.) 3
(i) [(64)7°17 + [{(-8)y}]

(i) (27 =29 (27 +27)
Solution:
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Question 3.

Evaluate:



(i) (=5)° (if) 80+ 40 4 20
(iii) (8 + 4 +2)° (iv) 40
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(i) Sy =1 (<a=1)
(if) 8°+4° +2°
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(vii) (TP =T x P2 2=49 x ] =49
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Question 4.
Simplify:
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Question 5.
Simplify:



(Xa+b)a—b . (X b+c)b—c . (Xc+a)c—a
Solution:
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Question 6.
Simplify:
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Question 7.
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Question 8.
Show that:



G

Solution:

LIHUSO -

X -b xb -C € -a
P I P B P
_ (xq+b)a—b’ (_lb+o)b-c*(xc+a)e-a
- x{n+b]{a—b} J.(b+c]{b—c} hx{c+a](c-a}
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xa-be-chz—a

= xai_bi +b2 -2 4ct-a?

= x°
= 1 = RHS.

Question 9.
Evaluate:

x5+n ( I‘Z }3?’! +1
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Solution:
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Question 10.
Evaluate:

a2n+1 * a{ln +1X2n-1)

an(4n*l) % {az )1n+3
Solution:

a2u+1 » ﬁ{2n+l]{2n—l}
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Question 11.

(m+n)*(m-t+ nt) = (mn)?
Solution:

LHS. (im+n)y'(m'+n")

|(1 1] 1 n+m 1
= — e | = =

m+n\m n m+n mn mn

= (mn)"!
=R.H.S.
Hence proved.



Question 12.

Prove that:
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Question 13.
Find the values of n, when:

(i) 1273 x 1227+ 1 = 1213 & 127

a!n-S % {al’_)m-l

i) —Gha =@ @

Solution:




(i) ]2-—5 % 122ﬂ+ | = 1213 + 127

125+ +1 = ,Lz_li
127
122!!—4= ]213—7
[227-4 =126
Comparing both sides, we get
2n-4=6
= 2n=6+4
= 2n=10
= n=35
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@)~ =@’ =@’
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a
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A3 M 2=(=12) = 9= (-18)

gAn+ 1= 27
Comparing both sides, we get

4n+ 11 =27
= 4n=27-11
_le _,
=n ]
Question 14.
Simplify:
a2"-3.g(nsin+2)

)] (@) g

xzm'! ,(xI}JmI

(i) A3



Solution:
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[#) a
2 2
a2n+3+ 2n* +5n+2 azn +Th+3
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N x2ﬂ+? . (xl )3H+2
(i) L 42ne3)
7
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